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l. 00000000000000000:O0000000000000O0O0OO
1) Vx(VxA)=V(V-A)-V?A

2) (A-V)A = %VAZ S A X (V x A

2. f(z,y,2)=yz+ze+2y000000000000000
(1) 000000 A(L,230000000A0000 f(z,y,2) 0000

(2) BOODOO (1,0,0)0CO0000(1,2000000000000 OB,BC,
CAOODAOOOOOOOOOOO f(z,y,2) 0000

3 7y0000000O0000A(L,1,0000000y=2°0000 0000
B(1,0,00000 ADDODDODDOOODOD A=gyi—2j0000000000

4. 00 2z +2y+2=2000000000 A,B,CO000D0OOOO0DOOOOOO
SO0O0Do0oOooooooooooo

Q) f(z,y,2)=2>+3y+2z—-10 SO0000000

(2) A==2%+:k0 SO00000000000000n00000000OOO
goobooooooon

O0A,
or

o
lA.VOV-ADOOODOO vOoooooooooooo0(A: V) =A4;--0(V-A), =
xr
000000000000000(---),00---020000000



